BIC

5x10°

log[ Relative Probability ]

Window Half—Width (km/s)

2x108

108

2x10°

5

10

—100 -50

—-150

10*

1000

rm235 2/(402139 —4965)=0.898

T T T T T T +
' BIC 420544 81 ABIC 0. OOO AlogP 0.0000
i x 356473.72 Ax 0.000 AlogP 0.0000 T
=== — — | |
: _______________ ——e—cl;—— ________________________ -B|C
L : ABIC —737951 : 723.6 «( - X2
i : M -737951 —412.0 |
4877 : 4877 : 4965
A | : | ACg :| | AC5F | |
20 40 60 80 100 120
120 iterations
rm235 2/(4021 39— 4965) 0. 898

' T
- : : BIC 420544.81 ABIC 0. OOO AlogP 0.0000 -
- . ! 2 2 1

Fe2 32% 719+138 km/s
rm235 BLR 9080 NLR QOO km/s

BLR

NLR
1 Fell

120 iterations

kdh1 11-0ct-2021 15:00



